1) lNoagcuntante kopeHb n3 1156
2) lNoagcyntanmte KopeHb U3 ABYyX A0 4-0ro 3Haka rnocse
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37 (10a+b)"3= + 300a”2b + 30ab”2 + b"3=
3) Pewunte kBagpaTtHoe ypaBHEHUE — + b(300a”2 + 30ab + b*2)
56 *x"2 + 138 #x + 27 = 0. * 7|6 09
4) (*) ObocHoBaTb aJirOpUTM U3BJ/IEHEHUS KBALAPATHOIMo 943| 28 29 (a+b)"3=a"3 + 3a"2*b+ 3ab”"2 +b"3
KOpPHS B CTO/1I6UK. X 3128 29
0 00853237 (2700 +90b+ b"2)*b
(2700 +90b+ b 2)*b| 23653 (2700 +90*9+ 972)*9=32319
23653 (2700 +90*6+ 672)*6=19656
(

0 2700 +90*7+ 772)*7= 23653

ab=(10a+b) oTBeT

BOMPOC

(10a+b)*2= +20ab+b”2= b(102ar+b)




